B IO R

Rl CE % 2 [|IT 5721 OILILoH, 4  ODIILD H DIDOHIL 2 >,
2 X 2 =
6 X 2 =
3 X 3 = 2 X 6 =
3 X 4 =
5 X 5 = 4 X 8 =
7 X 7 = e
8 X 8 = 2% 9=
6 X 3 =
9 X 9 = 3 X 6 =
3ODILILDH HEDHFNL 2 >,
8 X 2 = 8 X 3 =
2 X 8 = 3 X 8 =
4 X 4 = 6 X 4 =
4 X 6 =
9 X 4 =
4 X 9 =
6 X 6 =




B IO R

2 DDA DT,

X

TN
X
N\

N\
X
TN

X

oy
X
N

N
X
o

X

~J
X
\)

\)
X
~J

X

X

o
X
ot

X

X




B IO R

X

X

X

X

X

2 DDA DILIL,
8 X 4 =
4 X 8 =
7 X 5§ =
5 X T =
8 X 5§ =
5 X 8 =
7 X 6 =
6 X 7 =
9 X &5 =

X

X




B IO R

Rl CE % 2 [|IT B 721F OILILof, 4  ODIILD H DIDOHIL 2 >,
2 X 2 =
6 X 2 =
3 X 3 = 2 X 6 =
3 X 4 =
5 X 5 = 4 X 8 =
7 X 7 = e
8 X 8 = 2% 9=
6 X 3 =
9 X 9 = 3 X 6 =
3ODILILDH HEDHFNL 2 >,
8 X 2 = 8 X 3 =
2 X 8 = 3 X 8 =
4 X 4 = 6 X 4 =
4 X 6 =
9 X 4 =
4 X 9 =
6 X 6 =




B IO R

2 DDA DT,

X

TN
X
N\

N\
X
TN

X

oy
X
N

N
X
o

X

~J
X
\)

\)
X
~J

X

X

o
X
ot

X

X




B IO R

X

X

X

X

X

2 DDA DILIL,
8 X 4 =
4 X 8 =
7 X 5§ =
5 X T =
8 X 5§ =
5 X 8 =
7 X 6 =
6 X 7 =
9 X &5 =

X

X




B IO R

[ C$ & 2 BEATF 5 721 O TLILDHf, 4 ODAIDH 58 DOHL 2 >,

2 X = 4

3 X

TN
X X X X
|

8 X =

(o)
X X X X
|

9 X =

3ODILILD B HEDHNZ 2 >,

8 X = 8

2 X

4 X = 6

X X X X

S
X
|




B IO R

2 DDA DT,

X

X

20

X

X

X

X

~J
X

X

X

X

X

X

X




B IO R

2 DDA DT,

X

X

X

X

X

X

X

X

X

X

X

©
X

X

X

X




B IO R

R CEE 2 B2 2720 OILILDB,

25

49

64

31

3ODILILD B HEDHNZ 2 >,

16

36

4 ODIID B HEDOFI

12

12

12

12

18

18

18

18

24




B IO R

2 DDA DT,

20

21

10

27

14

28

15

30




B IO R

2 DDA DT,

32

32

48

48

39

39

54

54

40

40

56

56

42

42

63

63

45

45

72

72




